Orbit Peripherals (P) Limited

53-58, First Floor, Chakravarthy Complex, Sajjan Rao Circle, V. V. Puram, Bangalore - 560 004. (C) 080 - 2660 2698, 2660 2699, 2660 2707, 2660 2708

Friday, November 02, 2007

The Principal,

R. V. College of Engineering,

R. V. Vidhyaniketan Post,

Mysore Road.

Bangalore 560 059.

Subject: Delivery of Computers completed and submission of Invoice.

Reference: Centralized Computer Purchase Order Reference # RVE/3159/07-08 dated Tuesday, September 25, 2007 & our invoice # 972 dated Monday, October 29, 2007 and our letter dated Monday, October 29, 2007 to all departments for delivery of equipments.

Respected Sir.

We thank you, all departmental HOD's and Staff in supporting us for a very smooth delivery of large consignment of products to your esteemed institution on Tuesday, October 30, 2007

With reference to centralized purchase order Reference # RVE/3159/07-08 dated 25 September 2007, we have successfully delivered all ordered products to respective departments on Tuesday, October 30, 2007 as per distribution instructions from Vice Principal.

We are in the process of installation of these products and we have already completed installation at couple of departments. Once we complete installation and demonstration of all products, we are requesting respective Head of Department to acknowledge the same with stock certificate. We are sharing complete configuration and serial numbers of all products, department wise for easy asset & complete configuration and serial numbers of all products, department wise for easy asset management. If required, we can also share a soft copy with you.

We request you to instruct all respective Head of Departments to allow us to complete installation in next one week to ten days as we have deployed maximum work force to complete the installation process at the earliest. If there is any short fall in site preparation at any department or any other issue due to software vendor accessibility, we request you to advise all respective Head of Departments to check for hardware functionality and acknowledge with stock certificate as we do not want our payment process to be delayed due to any concerns that are not under our control. As are aware that, we have deployed resident engineers & they are at your service any time for next three years for any help.

Kindly revert back immediately for any further clarifications.

Assuring best of customer services, products, technology & organizational support all the times.

Yours Sincerely,

For Orbit Peripherals (P) Limited,

Shivakumar A. P. 98450-06692

> Dept. of Telegomentalist of P. C. Studies, R. V. College of Engineering.

Registered Office: 1412, Hemkunt Chambers, 89, Nehru Place, New Delhi - 110 019

(011 - 2646 1613, 3088 0411, 3088 0416

· Singapore · New Delhi · Bangalore · Chennai · Cochin · Mumbai · Gargaon · Chandigarh · Meerut · Noida ·



MARKETOP

		CH

DOOR DELIVERY

Orbit Peripherals (P) Limited,	
1ST FLOOR	
SREE CHAKRAVARTHY COMPLEX NO 53 TO 55 SAJJAN RAO CIRCLE	
V V PURAM - BANGALORE 500 004	
KST 00410342 CST 00400345 WEF 1.2.1996	3
SERVICE TAX REGN NO MRS/AAACO3303K ST- 1 DT 19 8 2003	
TEL NO 26602695 - 2695 - 2699	
Kistersottakia	
560 064	
E-mail mohan@orbitindia net	
Consignee	

OFFICE OF THE PRINICIPAL
R V COLLEGE OF ENGINEERING
R V VIDYANIKE I AN POST
MYSORE ROAD
BANGALORE 560 059
KARNATAKA STATE
I FL NO 080 28600184
TELEFAX . 080 - 28602914
Buyer (if other than consignee)

OFFICE OF THE PRINICIPAL
R.V.COLLEGE OF ENGINEERING

IVOICE	
Invoice No.	Dated
ORB BLR-07-08-972	29-Oct-2007
Delivery Note	Mode/Terms of Payment
INV NO 972	30 DAYS
Supplier's Ref.	Other Reference(s)
INV NO 972	REP A.P. SHIV
Buyer's Order No	Dated
RVE / 3159/07-08	25-Sep-2007
Despatch Document No.	Dated
INV NO 972	29-Oct-2007
Despatched through	Destination
ORBIT STAFF	LOCAL
Terms of Delivery	ALL CONTROL OF THE PARTY OF THE

Description of Goods	VAT %	Quantity	Rate	per	Amount
COMPUTER - HP DX 2700 SFF - RC 739 AV (V)	4	509 Nos	28,500.00	Nos	1,45,06,500.00
MONITOR - HP 15" LCD :PX848AA (V)	4	516 Nos			
SERVER - HP ML 350 TO 5 - HP 438730 - 371 (V)	4	4 Nos	1,75,898.00	Nos	7,03,592.00
DVD WRITER 16X - HP 383974-B21 (V)	4	4 Nos			14
RAM 1GB - HP 397409-B21 (V)	4	4 Nos			
RPS - HP 399771-B21 (V)	4	4 Nos			
HOT PLUG RED FAN KIT - 409579-B21 (V)	4	4 Nos			
DUAL PORT GIGABIT SERVER PCI ADAP - HP 412648 - B21	4	4 Nos			
HDD - 146 GB HDD - 431958-B21 (V)	4	34 Nos			
HP E5320 ML 350G5 KIT - 435512-B21 (V)	4	4 Nos			
FAN KIT - HP 403320 - B22 (V) HP BL C7000 SINGLE PHASE 2 PSU FOR FAN ENCLOSURE	4	3 Nos	2.15.234.00	Nos	6,45,702.00
BLADE SERVER - HP BL 460C - 435458-B21 (V)	4	9 Nos	2,25,000.00	Nos	20,25,000.00
POWER DIST. UNIT - HP 252663-B31 (V)	4	3 Nos			
POWER SUPPLY - HP 412138 - B21 (V)	4	6 Nos			
SINGLE FAN SPC BLC 7000 - HP 412140-B21 (V)	4	6 Nos			
HP IC ENVIRONMENT - BL - HP 436747-B21 (V)	4	3 Nos			
HP BLC GB E2 - HP 438030-B21 (V)	4	3 Nos			
LASERPRINTER - HP LJ 1022 - Q5912A (V)	4	11 Nos	9,300.00	Nos	1,02,300.00
PRINTER - EPSON LQ 1150 (V)	4	1 Nos	11.500.00	Nos	11,500.00
LASER PRINTER - HP CLJ 1600 - CB373A(V)	4	3 Nos	14,500.00	Nos	43,500.00

continued



Orbit Peripherals (P) Limited,

OIDIT FUDICIALS (F) LIMITED,
1ST FLOOR
SREE CHAKRAVARTHY COMPLEX
NO 53 TO 58 SAJJAN RAO CIRCLE
V V PURAM - BANGALORE 560 004
KST 00410342 CST 00460345 WEF 1.2 1996
SERVICE TAX REON NO.
MRS/AAACO3303K ST- 1 DT 19.8 2003
TEL NO: 26602695 - 2698 - 2699
Kamataka
560 004

E-mail mohan@orbitindia.net Consignee

OFFICE OF THE PRINICIPAL

R.V.COLLEGE OF ENGINEERING R V VIDYANIKETAN POST MYSORE ROAD BANGALORE 560 059 KARNATAKA STATE TEL NO 080 - 28600184

TELEFAX: 080 - 28602914 Buyer (if other than consignee)

OFFICE OF THE PRINICIPAL

R.V.COLLEGE OF ENGINEERING R.V.VIDYANIKETAN POST MYSORE ROAD **BANGALORE 560 059** KARNATAKA STATE TEL NO 080 - 28600184 TELEFAX: 080 - 28602914

Invoice No

ORB BLR-07-08-972

Delivery Note

INV NO 972 Supplier's Ref.

INV NO 972 Buyer's Order No.

RVE / 3159/07-08 Despatch Document No.

INV NO 972 Despatched through

ORBIT STAFF Terms of Delivery

DOOR DELIVERY

Dated

29-Oct-2007

Mode/Terms of Payment

30 DAYS

Other Reference(s)

REP A.P. SHIV

Dated

25-Sep-2007

Dated

29-Oct-2007 Destination

LOCAL

VAT % Description of Goods Quantity Rate per Amount 2.500.00 Nos PRINTER - HP DJ D2360 - C9079A (V) 4 2 Nos 5,000.00 4 DVD WRITER WITH CASING (V) 1 Nos 22,000.00 Nos 22,000.00 **DVD DUPLICATOR 7 BASE** 4 DVD WRITER SONY (V) 7 Nos 4 COMBO DRIVE 1 Nos 350.00 Nos **OPTICAL MOUSE - LOGITECH** 10 Nos 3,500.00 1,80,68,594.00

VAT OUTPUT @ 4%

4 % 7,22,743.76

Total

1,156 Nos

VAT %

4 %

07.0

1,87,91,337.76 E. & O. E.

Net Value VAT Amount

1.80,68,594.00 7,22,743.76

RALS

Safferna Rao Circle

W.W. PUKARA

Amount Chargeable (in words)

One Crore Eighty Seven Lakhs Ninety One Thousand Three Hundred Thirty Seven and 0.76 Rs Only

VAT Amount (in words)

Seven Lakhs Twenty Two Thousand Seven Hundred Forty Three and 0.76 Rs Only. (7,22,743.76 Rs)

BEING SALE OF HP SERVERS AND MONITORS AND COMPUTERS AND SERVER ACCESSORIES

Company's VAT TIN Buyer's TIN/Sales Tax No. 29970132708

EDUCATIONAL ORGANIZATION

Date & Time of Invoice

29-Oct-2007 at 13:11

for Orbit Peripherals (P) Limited,

Declaration

We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

Authorised Signatory

Orbit Peripherals (P) Limited,

OF THE OF

E-mail: mohan@orbitindia.net

Consignee

OFFICE OF THE PRINICIPAL

R.V.COLLEGE OF ENGINEERING R.V.VIDYANIKETAN POST MYSORE ROAD MTSCRE ROAD BANGALORE 560 059 KARNATAKA STATE TEL NO 080 - 28600184 TELEFAX : 080 - 28602914

Buyer (if other than consignce)

OFFICE OF THE PRINICIPAL R.V.COLLEGE OF ENGINEERING R.V.COLLEGE OF ENGINEERING MYSORE ROAD BANGALORE 560 059 KARNATAKA STATE TELNO 080 - 28600184 TELEFAX - 080 - 28602914

Invoice No.

ORB BLR-07-08-1070

INV NO 1070 Supplier's Ref

Delivery Note Mode/Terms of Payment ON DELIVERY Other Reference(s)

Dated

21-Nov-2007

INV NO 1070 Buyer's Order No

REP SHIVKUMAR A.P Dated

RVE/3159/ 25-Sep-2007 Despatch Document No. Dated

21-Nov-2007 **INV NO 1070** Despatched through Destination ORBIT STAFF LOCAL

Terms of Delivery

DOOR DELIVERY

VAT % Quantity Rate Amount Description of Goods per 4 50,100.00 Nos 2,00,400.00 LAPTOP - HP NX 7400 - ET444AV (V) 4 Nos SERIAL NUMBERS CNU7443P5N - CNU7450002 CNUT443P6Q CNUT450017 WITH HP CARE PACK WARRANTY 4 CARRY CASE (V) 4 Nos FOR ABOVE LAPTOP 4 PROCESSOR - QUAD XEON HP - 435564-B21 (V) 9 Nos SERIAL NUMBERS SGH742ALEA - SGH742ALEP SGH742ALEE - SGH742ALEW SGH742ALEJ SGH742ALE1 SGH742ALK9 SGH742AXP0 SGH742AXP1

VAT OUTPUT @ 4%

2,00,400.00

2,08,416.00

4 %

8,016.00

Total 17 Nos

Amount Chargeable (in words)

Two Lakhs Eight Thousand Four Hundred Sixteen Rs Only

VAT Amount (in words)

Eight Thousand Sixteen Rs Only. (8,016.00 Rs)

E. & O. E. VAT % Net Value VAT Amount

FRIP

RBIT

2.00.400.00 4 % 8,016.00

TERALS

Saffere Rao Circle

PERMIT

BEING SALE OF HP LAPTOP AND CARRY CASE AND PROCESSOR FOR HP SERVERS

Company's VAT TIN Buyer's TIN/Sales Tax No. 29970132708

EDUCATIONAL ORGANIZATION

Date & Time of Invoice

. 21-Nov-2007 at 10:21 for Orbit Peripherals (P) Limited,

Declaration We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

Authorised Signatory

RASHTREEYA SIKSHANA SAMITHI TRUST



R.V.COLLEGE OF ENGINEERING

Phone: 080- 28600184 080- 28601700 080- 28601701 Fax: 080-28600337 Email: principal@rvcc.as.in Website: www.rvcc.ac.in

Office of the Principal R.V.Vidyaneketan Post, Mysore Road,

"Mysore Road, BANGALORE-560059

pproved by All India Council for Technical Education , New Delhi ffiliated to Visveswaraiah Technological University, Belgaum, Karnataka

Ref: No : RVE / 3/59/07-08

Date: 25-09-07

To,
M/s. Orbit Peripherals
First Floor, Chakravarthy Complex,
53 to 58, Sajjan Rao Circle,
V.V.Puram,
BANGALORE560004
Karnataka

WI cho Hunter Res.

SIr,

India

Subject: Supply of Computer Systems, Servers and accessories.

Reference: Your Quotation dated 24th September 2007 and 17th August 2007

With Reference to the above, you are requested to Supply Computer Systems, Servers and accessories to the college campus on or before 16.10.2007. The Details are as given below.

SI. No.	Item	Rate	Qty	Amount in Rs.
1	HP Compag DX2700 SFF Deskton system Intel® Core™2 Duo processor E6400 2.13 GHz 2 MB L2 cache 1066 MHz front side bus 512 MB RAM 80 GB SATA Harddisk 15 " TFT Monitor (DVD - CDRW) Combo Drive, Giga bit Ethernet (on board - 1 no)	28500.00	509	14506500.00
2.	Keyboard, Optical Mouse, HP Proliant ML 350 G5 (tower Model) Computer Server Dual Intel® Xeon® 5060 Dual Core Processor 3.20 GHz, 2 x 2MB Level 2 cache 1GB RAM (2 x 512MB) PC2-5300 Fully Buffered DIMMs DDR2-667 running at 533 MHz 73GB X 4 SCSI harddisk ,Hot swappable 15 "TFT Monitor Dual Redundant Power Supply DVD Writer(Dual layer) Additional (DVD - CDRW) Combo Drive 1.44 Floppy Disk drive Giga bit Ethernet (on board - 1 no,, Additional - 2 nos) Keyboard, Optical Mouse.	175898.00	04	703592.00

RASHTREEYA SIKSHANA SAMITHI TRUST



R.V.COLLEGE OF ENGINEERING

Phone: 080-28600184 080-28601700 080-28601701 Fax : 080-28600337 Email: principal@rvce.ac.in Website: www.rvce.ac.in

Office of the Principal R.V.Vidyaneketan Post, Mysore Road, BANGALORE-560059

pproved by All India Council for Technical Education , New Delhi ffiliated to Visveswaraiah Technological University, Belgaum, Karnataka

Ref: No: RVE/

Date:

SI. No.	Item	Rate	Qty	Amount in Rs.	
3.	HP C7000 Single Phase Enclosure (Blade Chassis) Should support minimum 6 blades. Redundant power supply, cooling, network switch (8 ports), expandable management tools, keyboard, optical mouse, 15 " TFT monitor, Hot plug driver	215234.00	03	645702.00	
4.	HP Prollant BL 460 C Blade Server Dual processor Dual-Core Intel Xeon processor 5160 (3.0 GHz, 1333 MHz FSB) 2 GB DDR2 RAM 2 X 72.8-GB Hot Pluggable Ultra320 SCSI 10,000 rpm Hard Drive (1" ht.) with smart Array controller	225000.00	09	2025000.00	
5.	HP Compag Nx 7300 Laptop Intel Centrion Duo mobile technology Intel Core 2 processor T 5200 (2 MB cache, 1.6Ghz 533 Mhz FSB) Genuine Microsoft Vista Business 1 GB DDR2 RAM 15.4 " TFT Display 80 GB SATA Hardisk DVD Writer Wireless /Bluetooth	50100.00	4	200400.00	
6.	Epson LQ 1150 Dot Matrix Printer 24 pin, heavy duty printer	11500.00	1	11500.00	
7.	HP Laser Jet Printer (1022)	9300.00	11	102300.00	
8.	HP Colour Laser Jet Printer (1600)	14500.00	03	43500.00	
9.	HP Deskjet (D2360) Color Printer	2500.00	. 02	5000.00	
10.	DVD Duplicator (1:6)7 bays cage with 7 DVD writers	22000.00	01	22000.00	
11.	Optical Mouse (Logitech)	350.00	10	3500.00	
	Total			1,82,68,994.00	
	Taxes @ 4 % VAT		7 (6)	730759.70	
	Total			18999753.70	
	Rounded Off			0.24	

RASHTREEYA SIKSHANA SAMITHI TRUST



R.V.COLLEGE OF ENGINEERING

pproved by All India Council for Technical Education, New Delhi

filliated to Visveswaraiah Technological University, Belgaum, Karnataka

Phone: 080-28600184 080-28601700 080 - 28601701 : 080 -28600337 Email: principal@ryce.ac.in Website: www.rvce.ac.in

Office of the Principal R. V. Vidyaneketan Post, Mysore Road,

BANGALORE-560059

Ref: No : RVE /

Date:

With reference to the letter dated 17th August 2007, you are required to setup a "HP Design Zone" at Mechanical CAD laboratory as per the discussion at free of Cost, with three workstations as mentioned in the offer letter.

Terms and conditions

- Taxes: As mentioned above.
- 2. Delivery: FOR, RVCE premises
- 3. Demonstration /Installation: Acceptance is subject to Demonstration /Installation and satisfactory performance and working. Network configuration and implementation to be carried out in co-ordination with the Network Engineer and network vendors.
- 4. Blade Servers to be installed in the place of two or three independent servers (Dept of MCA, CSE, Mechanical). They need to be connected to existing LANs at no extra cost (related to cabling /switches etc). This has been inspected and agreed upon by the vendor. Any power requirement for Blade servers are to be mentioned earlier so that we can make arrangements for the same.
- 5. Payment: subject to satisfactory Demonstration /Installation
- 6. Transit /Freight: All charges relating to Freight, loading and unloading, packing etc., shall be at your cost
- 7. Warranty: Three years on Site
- 8. Resident Engineer: One Additional Engineer to be deputed with existing Engineer.

Kindly acknowledge with an acceptance letter.

Thanking you

Yours Sincerely

S.C. acea PRENCYPARAL

R.V. College of Engineering Bangalore-560 059.

Received order